Sistema meétrico decimal
Pasar de incomplejo a complejo)

Solucién
* Longitud:
Km | Hm [Dam| m | dm | cm | mm
8917265 m 8 9 1 2 6 5
2877 dm 2 8 7
6.787 m 6 7 8 7
37901 Km 3 9 0 1
07921 m 9 2 1
89°57 Hm 8 9 5 7
6.450 mm 6 4 5 0
07959 Dam 9 5 9
070152 Hm 1 5 2
3.201 dm 3 2 0 1
+ Capacidad:
Kl HI | Dal I dl cl ml
371521 3 1 5 2
07536 HI 5 3 6
37927 Hi 3 9 2 7
5472 Dal 5 4 2
07624 | 6 2 4
21759 dl 2 1 5 9
650 cl 6 5 0
1766 dI 1 6 6
6°512 Kl 6 5 1 2
9.300 | 9 3 0 0
* Masa:
Kg | Hg | Dag | ¢ dg | cg | mg
310 dg 3 1 0
84 Hg 8 4
923 dg 9 2 3
4.650 cg 4 6 5 0
318 cg 3 1 8
77842 Kg 7 8 4 2
077252 Kg 7 2 5 2
07165 Hg 1 6 5
50.401 dg 5 4 0 1
7797 dg 7 9 7
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